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Candidates must write the Code on the
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¢ Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 32 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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HTHTT :
.

G) g @vel & @yt 397 3T § |
(i)  FAF F97 & [HYRT 37 399 qrad RU 1@ & |

(iii)  F97 G&IT1 -5 77 17 - 21 371a TFHIHS F97 &, 5779 J% &7 1 375 8 |
59T Yo &1 I Uk FTaFT § 57 3957 8 |

(iv) 97 T&IT 6 - 10 37K 22 - 26 TGHIHF 97 &, 970 J9% & 3 375 & |
Je9% BT IR T 60 Jeg] & 37fer 787 517 =T |

(v)  T97 G&IT 11 - 13 37K 27 - 29 4} TGHIHH 97 &, 577 J4% & 4 37% & |
eI & I GIET=TT: 70 V5G] & 3 T8 571 08T |

(i) 397 &I 14-16 3K 30 - 32 FREIIHF I aIct J97 &, 1975 I39% &
6 3% & | I9% T I GII=a: 100 JI5E] @ 379 757 547 T30 |

(vii) TRIfHA (*) J97 GoATERT 597 & |

(viii) IR GIETT TIT TeITcHS &7 FET TIT JqGHT FW 3 T3 HHT & 3a7la &
13T 17 e |

General Instructions :

(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each.

(iti) Questions No. 1 -5 and 17 - 21 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv)  Questions No. 6 - 10 and 22 - 26 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 11 — 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 14 - 16 and 30 - 32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Questions marked star (*) are value-based questions.

(viii)) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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SECTION A

*1, 39 AU Yo 1 AW Fas¢ A1 foh <0 § FHieHl § Jhg A & A § I
Bl Tehdl 2 | 1

Name the economic value achievable when attempts are made to
increase resources in the country.

2. I&  qfd I PIGAT AT TAEER Hd Hal AT 8 ? 1
When is supply of a good said to be perfectly price inelastic ?

3. R gfd s afeams i | 1
Define market supply.

4.  HT H AT dT | 1
Define demand.

5. Tor @mmt & @ e df | 1

Give two examples of fixed costs.

6. AJMBYH i g | A Hiuad § iadd o B 3l AT W IHE i =TT

I | 3
A and B are complementary goods. Explain the effects of change in price
of A on demand for B.
7. Uh I%q I Gfd “Ted” o fohgl qf RO hi ST HINT | 3
HAAAT

gfit a5k % 315 T faderd & foheel g1 vl shi =ame ST |

Explain any two causes of “decrease” in supply of a commodity.

OR
Explain any two causes of a rightward shift of supply curve.
8. 3G o YUk TR W HHd SANTd ol Yiehet hIfTT 3
IcqTEH (313N 11 2|3 | 4|5 | 6
3tEa afiedt @ () 2412220 | 18 | 18 | 20
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10.

11.

12.

13.

14.

58/2
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Calculate marginal cost at each level of output : BT 1 Complteguide for CRSE stndents

Output (units) 1 2 3 4 5 6
Average variable cost () | 24 | 22 | 20 | 18 | 18 | 20

frafefaa s1feet @ gfd <1 Hma = o1 afered $Hife

sima gfd 3618 (3) 8 | 10
F guTH () (F)| 1000 | 1500

From the following data calculate price elasticity of supply :

Price per unit (3) 8 10

Total Revenue () | 1000 | 1500

‘B IcUTGT B h THEN FI 39 Bl B 2 SARSAT I |
Why does the problem of ‘how to produce’ arise ? Explain.

TeHTTERR <h! TR €T | TR i e faeivan samsy |

Define monopoly. State the main features of monopoly.

Teh &g 1 | shl A W= () 0-58 | T 40 Ufd $h1S hiwd T SHAT AT
300 3TS & | Tore hma W st Wi 20 yfderd st 2
The price elasticity of demand of a good is (—) 0-5. At a price of ¥ 40 per

unit its demand is 300 units. At what price will its demand increase by
20 percent ?

T @1 3R S9i¢ Ufqay o HISRON o s 3Tat HHEST |

Explain the distinction between the equations of budget line and budget
constraint.

ST F3h1 i ToRIYATSTl hl SATEAT HIT |

AT
YT TreeioT o G ITHIH Ha- hl Wdl ohi SAREAT HIT |
Explain the characteristics of indifference curves.

OR

Explain the conditions of consumer’s equilibrium using utility analysis.
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15.

16.

ie :

e~ = ;1 CBSEonsids, g
fafafigd 3Tiehel § 3IcUTeT 1 98 TaX A ShITGTT T8 U SEHGE, i bk fs B

A I b fIT R0 G | (HHred dra SR e s fafy s
EAELY) 6
IS (3H1E) | FUH (3TM) ()| T &AM ()

1 12 14

2 24 26

3 36 36

4 48 48

5 60 62

From the following data find out the level of output at which the
producer is in equilibrium. Give reasons for your answer. (Use marginal
cost, marginal revenue approach)

Output (units) | Total Revenue () | Total Cost (3)
1 12 14
2 24 26
3 36 36
4 48 48
5 60 62

IE] ! SR U b 3T e Hiud I AfUH F W IR H B 9T
giEdHi i SareaT i | [@Ttes 1 ST HifT | 6
Explain the changes that will take place in the market when market

price of a good is greater than its equilibrium price. Use diagram.

HETfeTRaT F97 a7 gIRgiT ahemiaal & 1o7q o7 G&37 16 & €7 W& |

Note : The following question is for the Blind Candidates only in lieu of

58/2

Q. No. 16.
& h! TR hHHA o ITh! Fge Hud § 3TH g1 W IR § g
gREcl i AT T | Teh dTfeIshl T FAT HITT, | 6

Explain the changes that will take place in the market when market

price of a good is greater than its equilibrium price. Use a schedule.
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SECTION B

17. <3 Icqre <kt gftam dfsw |

Define domestic product.

18. TSIEd =99 @ @l 318Ul Sl |

Give two examples of revenue expenditure.

19. TRfa Tehdt Ffer srguma & o Afvm 8 2

What is meant by cash reserve ratio ?

20. 3AYIY H hl TNHTYT T |

Define an indirect tax.

21. WIS 1 7Y AW |

Give the meaning of depreciation.

22. €W IR TR 1 qod HHq s=d YG 8 GIAT B | Ok R Yol
T |

The value of marginal propensity to consume is double the value of
marginal propensity to save. Find the value of multiplier.

23. Uk AJHTEAT T TcATNId AT ARG IcUTed o Afereh & | 37sgaedr § g+
a1t Y afEdHi < s i |

In an economy planned spending is greater than planned output.
Explain all the changes that will take place in the economy.

24, IEdfaeh N Hifdeh Tehel <3 Icute § ¥e ity |

Distinguish between real and nominal gross domestic product.

25. TAH GgaH @A o AR T 3R TTe] @l FdeH | We T |

Distinguish between Balance of trade and Balance on current account of
the Balance of Payments account.
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26.

27.

28.
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HAAT

‘SRl o SR o T H hrod deh shl Y[R i AT HINT |
Explain the ‘unit of account’ function of money.

OR
Explain the role of central bank as the ‘Bankers’ Bank’.
Hdlg deh Ade¥arr ¥ grg i “Sw e grr he R s g 2
gAY | 4

How does the central bank control credit creation in the economy

through “Bank Rate” ? Explain.

frfiIfiad sTihsl ¥ “ie ard W Had qod dglg” 1 Iieha i 4
(& @l 4)
i  fosh 400
(i) ¥ § gfEdq (-) 20
(iii) HeATd] ITHM 200
(iv) Tioa smcae =it 40
v) Twia 50
(vi) HcIBE 30
arera

FT T BT IcAIG AT o 3T HedAT0 1 TE b & ? 39 I oh
Tm | g R R |
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From the following data calculate “Net value added at taetor copi s jor cuse stuienss

(T in Lakhs)
) Sales 400
(i1))  Change in stock (=) 20
(iii) Intermediate consumption 200
(iv)  Net indirect taxes 40
(v)  Exports 50
(vi)  Depreciation 30

OR

Is gross domestic product a true index of economic welfare of the

people ? Give two reasons in support of your answer.

*29, TIHR HH o TR TG hl A i 7 U B & | $Hh TS R AT(H

el YT S i 3281 8l Jehdl & ? THSATST |

Government takes measures to restrict autonomous imports of gold.
Explain the economic values desired to be achieved from this.

30. TP I F1 Ufehe T :

(T #gl 7)
() 9 fovg @ fee =Te] sedmaw 30
Gi) st erfem S == 400
(iii) Faa < geft fmfo 100
(iv) T | giadH 50
(v) HIgH™ 20
(vi) TR AT Ui = 200
(vii) Traa fafa 40
(viii) TTaa sTIcaer e 80
(ix) et =i faa wre 3 &1 PraE 10

HAAT

58/2 8
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FTRad STiehel | dTtheh SIS ST T TNEhTI ShITSTT, ek 4 Comprtgisror st 3

(& #gl 5)

i) TSt &3 1 R ara | fFaw

<t Icarg & it o1 800
(i)  UEH R T A 50
(iii) EHR ¥ =T FEATT 70
(iv) fioft ot & Y s=ra 200
(v) Tm e 40
(vi) dREml gr fou T Sede 30
(vi)) TeIg™ 60
(viii) ToeEn & faa &R o 20
(ix) faeer =t fFrae @ s () 10

Calculate national income :

(< in Crores)

(1) Net current transfer from rest of the world 30
(i1)  Private final consumption expenditure 400
(iii) Net domestic capital formation 100
(iv)  Change in stock 50
(v)  Depreciation 20

(vi)  Government final consumption expenditure 200

(vii) Net exports 40

(viii) Net indirect taxes 80

(ix) Net factor income paid to abroad 10
OR
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From the following data calculate personal disposable 11¥€ai e i suideor case sindens

(T in Crores)

) Net domestic product at factor cost

accruing to private sector 800
(ii))  National Debt interest 50
(iii) Current transfers from government 70
(iv)  Savings of private corporate sector 200
(v)  Corporation tax 40
(vi)  Direct taxes paid by households 30
(vii) Depreciation 60
(viii) Net factor income from abroad 20
(ix) Net current transfers to abroad (=) 10

31. (1) @y O Y iy §fT | 39 gee R | 2
() Uh AdegaEn & or # fov U fFAfaigq oAieet @ 3T 3™ &

HITH T T IRehe T

(i) ¥ U YgR = 0-75
(i) T STHM = 200
(iti) FremT = 6000

(a)  Define aggregate demand. What are its components ?

(b) From the following data about an economy, calculate its
equilibrium level of income :

(i)  Marginal propensity to consume = 0-75
(i1) Autonomous consumption = 200
(iii) Investment = 6000

58/2 10
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32. TIHR S9IC o HHIRGd 32T <hl AT <hITVT BELC 1 Complee uidior CBSEwrdens 5

(31) HEEAl T A

() A I AT DI HH HEAT

Explain the following objectives of government budget :
(a)  Allocation of resources

(b)  Reduction in inequalities of income

58/2 11



